
149

Model No. & Flow rateFlow direction
HSA

1

Inlet

Flow direction

Filter

Rod

Body

Check valve seat

Spring

Clasp

CP-4
Closure plug

HTG

EA4-20
Elbow adapter

EC1-22
Elbow connector

CB-4-10
Compression bushing

CS-4
Compression sleeve

CS-4
Compression 
sleeve

HJB

CS-4
Compression sleeve

CN-4
Compression nut

HSA

TI-4
Tube insert

CB-4-8
Compression 
bushing

ST-4Z
φ4 Steel tubing

PJ-4S
Junction

NT-4
φ4 Nylon tubing

T

T

J
A

H

Q

B

B

Use an appropriate sealant where mark is shown.

Mark denote tightening torque. See the tightening torque list. P.251

[HSA-1] [HTU-02] [HJB-1]

�� Please conform the flow direction and thread size to 
connect to the junction.
�� Do not over tighten any joints. Refer to the tightening 
torque table. (P.251)
�� Do not over tighten the discharge joint. Refer to the 
tightening torque table. (P.251)

Normal working pressure Under 0.8 MPa

Resistance type valve
Flow unit

Flow Units are resistance devices used for 
intermittent delivery type systems. Specifications

Internal construction

Directions for use

Piping layout (Example)



150

(SLR) Single Line Resistance 
com

pact system
 for sm

all m
a-

chines w
ith interm

ittent delivery 

RoHS compliant products are also available. 
Please contact us for details.

Part Number 
Model  Dimensional drawing

Part Number 
Model  Dimensional drawing

Metric  Inch Metric  Inch

105501
105001
105002
105003
105004
105005
105006
105007

185501
185001
185002
185003
185004
185005
185006
185007

HSA 03
02
0
1
2
3
4
5

105513
105072
105073
105074
105075
105076
105077
105078

185513
185072
185073
185074
185075
185076
185077
185078

HTU 03
02
0
1
2
3
4
5

105502
105008
105009
105010
105011
105012
105013
105014

185502
185008
185009
185010
185011
185012
185013
185014

HJB 03
02
0
1
2
3
4
5

105503
105015
105016
105017
105018
105019
105020
105021

185503
185015
185016
185017
185018
185019
185020
185021

HTA 03
02
0
1
2
3
4
5

105507
105043
105044
105045
105046
105047
105048
105049

185507
185043
185044
185045
185046
185047
185048
185049

HTK 03
02
0
1
2
3
4
5

105504
105022
105023
105024
105025
105026
105027
105028

185504
185022
185023
185024
185025
185026
185027
185028

HTD 03
02
0
1
2
3
4
5

105508
105051
105052
105053
105054
105055
105056
105057

185508
185051
185052
185053
185054
185055
185056
185057

HTG 03
02
0
1
2
3
4
5

105505
105029
105030
105031
105032
105033
105034
105035

185505
185029
185030
185031
185032
185033
185034
185035

HTC 03
02
0
1
2
3
4
5

105509
105058
105059
105060
105061
105062
105063
105064

185509
185058
185059
185060
185061
185062
185063
185064

HTH 03
02
0
1
2
3
4
5

105506
105036
105037
105038
105039
105040
105041
105042

185506
185036
185037
185038
185039
185040
185041
185042

HTB 03
02
0
1
2
3
4
5

105510
105065
105066
105067
105068
105069
105070
105071

185510
185065
185066
185067
185068
185069
185070
185071

HTL 03
02
0
1
2
3
4
5

25 (0.98″)

HEX10
(0.39″)

M8X1
(5/16-24)

R1/8
(1/8NPT)

29.5 (1.16″)

HEX10
(0.39″)

M8X1
(5/16-24)

M8X1
(5/16-24)

T
A

38 (1.5″)

30
 (1

.1
8″

)

2-M8X1
(2-5/16-24)

R1/8
(1/8NPT)

47 (1.85″)

T
D

15
(0

.5
9″

)

2-M8X1
(2-5/16-24)

R1/8
(1/8NPT)

47 (1.85″)

T
C

15
(0

.5
9″

)

2-M8X1
(2-5/16-24)

R1/8
(1/8NPT)

TB

46 (1.81″)

30
 (1

.1
8″

)

3-M8X1
(3-5/16-24)

R1/8
(1/8NPT)

23 (0.91″)

HEX10
(0.39″)

R1/8
(1/8NPT)

R1/8
(1/8NPT)

TK

47 (1.85″)

15
(1

.8
5″

)

3-M8X1
(3-5/16-24)

R1/8
(1/8NPT)

TG
38 (1.5″)

30
 (1

.1
8″

)
3-M8X1
(3-5/16-24)

R1/8
(1/8NPT)

□28 (1.1″)

39 (1.54″)

4-M8X1
(4-5/16-24)

R1/8
(1/8NPT)

47

�28

14

4-M8X1
(4-5/16-24)

R1/8
(1/8NPT)



67

20.5
8

2-Rc1/8

29

φ1
6

φ7

φ1
18

2-Rc1 8

33

φ1
6

8

20.5

φ7

3-Rc1/8

16
.5

24
.5

35 10
.5

φ7
4-Rc1/8

33

11

15
20

φ1
1

35 10
.5

16 16

16
20

2-φ7 8-RC 1 8/

L2

L1

φ1
1

Dimensional drawing Model

Junction
For main line piping, separating and MGI metering valve installation

[JV-6S]

Model Part Number Specifications L1 L2

JV-4S 206472  Single type for 2 ports 49 38

JV-5S 206473  Single type for 3 ports 65 54

JV-6S 206474  Single type for 4 ports 81 70

JV-7S 206475  Single type for 5 ports 97 86

JV-8S 206476  Single type for 6 ports 113 102

JV-9S 206479  Single type for 7 ports 129 118

JV-10S 206543  Single type for 8 ports 145 134

Material: Zinc Die-casting (ZDC)

Model Part Number Specifications

JV-3 206471  Single type for 1port

Material: Zinc Die-casting (ZDC)

Model Part Number

JV-2 206470

Material: Zinc Die-casting (ZDC)

Model Part Number Specifications

JV-4D 206464 Double type for 2 ports

Material: Brass (C3604)

Model Part Number Specifilcation L1 L2

JV-6D 206465 Double type for 4 ports 49 38

JV-8D 206466 Double type for 6 ports 65 54

JV-10D 206467 Double type for 8 ports 81 70

JV-12D 206468 Double type for 10 ports 97 86

JV-14D 206469 Double type for 12 ports 113 102

Material: Brass (C3604)

20.5

8

4-Rc1/8

10
.5

16

φ1
1

16
.5

φ1
6

2-φ7

L2

L1

[JV-4S]

[JV-8D]



122

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
Large M

achines

33

33

20.5

4-M10×1

φ7

φ1
6

φ1
1

12.5

20.5

12.5

10
.5

φ1
6 16

.5
4-M10×12 - φ7

φ1
1

49

38
16

PJ4-6

PJ4S-6

CB-6 TI-6

NT-6

CS-6

20.5
8

2-Rc1/8

29

φ1
6

φ7

φ1
18

2-Rc1 8

33

φ1
6

8

20.5

φ7

3-Rc1/8

16
.5

24
.5

35 10
.5

φ7
4-Rc1/8

33

11

15
20

φ1
1

20.5

8

4-Rc1/8

10
.5

16

φ1
1

16
.5

φ1
6

2-φ7

L2

L1

35 10
.5

16 16

16
20

2 - φ7 8-RC 18

L2
L1

φ1
1

For, MGI, valve installation / 6mm / 8mm O.D tubing

[JV-4S]

[JV-8D]

[JV-6S]

Model Part Number Specifications L1 L2

JV-4S 206472 Single type for 2 ports 49 38

JV-5S 206473 Single type for 3 ports 65 54

JV-6S 206474 Single type for 4 ports 81 70

JV-7S 206475 Single type for 5 ports 97 86

JV-8S 206476 Single type for 6 ports 113 102

JV-9S 206479 Single type for 7 ports 129 118

JV-10S 206543 Single type for 8 ports 145 134

Material Zinc Die Casting (ZDC)

Model Part Number Specifications L1 L2

JV-6D 206465 Double type for 4 ports 49 38

JV-8D 206466 Double type for 6 ports 65 54

JV-10D 206467 Double type for 8 ports 81 70

JV-12D 206468 Double type for 10 ports 97 86

JV-14D 206469 Double type for 12 ports 113 102

Material brass (C3604)

Model Part Number Specifications

JV-3 206471 Single type for 1 port

Material Zinc Die Casting (ZDC)

Model Part Number Specifications

JV-4D 206464 Double type for 2 
ports

Material brass (C3604)

Model Part Number

JV-2 206470

Material Zinc Die Casting (ZDC)

Junction

Dimensional drawing

Dimensional drawing Model

Example of connecting nylon tubing NT-6.



118

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
Large M

achines

Dimensional drawing

33

8

20.5

12.5

2-M10×1

16
.5

Rc1/8

φ7

φ
16

φ1
1

20.5
12.5

10
.52-M10×1

16

16

L2
L1

2 - φ7 Rc1/8

φ1
1

35 10
.5

15

20

11

33

2-Rc1/8
2-M10×1

  φ7

35 10
.5

16 15

20

Rc1/8

2-M10×1

2 - φ7

L2

L1

[PV-4D]

[PV-7]

Model Part Number Specifications

PV-1 206481 Single type for 1 port

Material: Zinc Die Casting (ZDC)

Model Part Number Specifications L1 L2

PV-2 206482 Single type for 2 ports 49 38

PV-3 206483 Single type for 3 ports 65 54

PV-4 206484 Single type for 4 ports 81 70

PV-5 206485 Single type for 5 ports 97 86

PV-6 206486 Single type for 6 ports 113 102

PV-7 206487 Single type for 7 ports 129 118

PV-8 206489 Single type for 8 ports 145 134

Material: Zinc Die Casting (ZDC)

Model Part Number Specifications

PV-2D 206491 Double type for 2 ports

Material brass C3604

Model Part Number Specifications L1 L2

PV-4D 206492 Double type for 4 ports 49 38

PV-6D 206493 Double type for 6 ports 65 54

PV-8D 206494 Double type for 8 ports 81 70

PV-10D 206495 Double type for 10 ports 97 86

PV-12D 206496 Double type for 12 ports 113 102

Material brass C3604

Junction for MO valve
For MO valve installation

Model



121

16.5
10

33
10

33
10

2-M8×1

2-M10×1

φ1
2

φ13

φ6.5

1 1

16
.5

φ1
3

2-M8×1

R3
.25

3-M10×1

10

L2

L1 16

φ1
2

15

16

15

1 1

16
.5

R3.25

33

2-M8×1          

4-M10×1          

47
34

φ1
2

[PVS-3S]

PJ3-6

Model Part Number Specifications L1 L2

PVS-2S 206572 Single type for 2 ports 47 34

PVS-3S 206573 Single type for 3 ports 63 50

PVS-4S 206574 Single type for 4 ports 78 65

PVS-5S 206575 Single type for 5 ports 93 80

PVS-6S 206576 Single type for 6 ports 108 95

PVS-7S 206577 Single type for 7 ports 123 110

PVS-8S 206578 Single type for 8 ports 138 125

Material Zinc Die Casting (ZDC)

Model Part Number Specifications

PVS-2D 206554  Double type 2ports

Material Zinc Die Casting (ZDC)

Model Part Number Specifications

PVS-4D 206557 Double type 4ports

Material Zinc Die Casting (ZDC)

Model Part Number Specifications

PJ2-6 206452 Two-way

PJ3-6 206453 Three-way

PJ4-6 206454
Four-way

PJ4S-6 206461

Material Zinc Die Casting (ZDC)

External diameter

Junction for MOS compact metering valve

Junction for main tubing

Valve installation ports are threaded in M10x1 specially for MOS valves. 
Plug the installation ports not in use with Blanking Plug (BPS).  
When connecting tubing, use the adapter (SAS).

Dimensional drawing

Dimensional drawing Model

Model

For 6mm O.D tubing

20.5

8

29
2-M10×1

φ7

φ1
6

φ1
1

12.5

33
20.5

8

16
.5

3-M10×1

φ1
1φ1

6

φ7 12.5

PJ2-6



116

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
Large M

achines

Junctions and special fittings  
for MO2 series valve installation

Dimensional drawing Model

M12×1

O-ring
Rc1/8

24HEX12

M12×1

O-ring
5 14

[Plug assembly]

[Connector assembly]

Model Part Number

SCP 619803

Material: Brass (C3604)

Model Part Number

BPP 619802

Material: Steel (SUM24)

12-M12×1

L2
L1

L2
L1

2 - φ7

16 16

16

16 16 16

2-M12×1

2 - φ7

10
.5

17
.57

20
2-Rc1/8

11
35

15

20
2-Rc1/8

11
25

15

12-M12×1

L2
L1

L2
L1

2 - φ7

16 16

16

16 16 16

2-M12×1

2 - φ7

10
.5

17
.57

20
2-Rc1/8

11
35

15

20
2-Rc1/8

11
25

15

[Junction JVPA-12D]

[Junction JVPA-2S]

Model Part Number Specifilcation L1 L2

JVPA-1S 216001 Single type for 1 port 33 22

JVPA-2S 216002 Single type for 2 ports 49 38

JVPA-3S 216003 Single type for 3 ports 65 54

JVPA-4S 216004 Single type for 4 ports 81 70

JVPA-5S 216005 Single type for 5 ports 97 86

JVPA-6S 216006 Single type for 6 ports 113 102

JVPA-7S 216007 Single type for 7 ports 129 118

JVPA-8S 216008 Single type for 8 ports 145 134

JVPA-9S 216009 Single type for 9 ports 161 150

JVPA-10S 216010 Single type for 10 ports 177 166

JVPA-11S 216011 Single type for 11 ports 193 182

JVPA-12S 216012 Single type for 12 ports 209 198

For MO2 valve installation

Model Part Number Specifilcation L1 L2

JVPA-2D 216021 Double type for 2 ports 33 11

JVPA-4D 216022 Double type for 4 ports 49 38

JVPA-6D 216023 Double type for 6 ports 65 54

JVPA-8D 216024 Double type for 8 ports 81 70

JVPA-10D 216025 Double type for 10 ports 97 86

JVPA-12D 216026 Double type for 12 ports 113 102

JVPA-14D 216027 Double type for 14 ports 129 118

JVPA-16D 216028 Double type for 16 ports 145 134

Material Aluminum A6063S-T5



58

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
S

m
all-M

edium
 M

achines

M10×1 O-ring

5 16

[Plug assembly]

M10×1

O-ringRc1/8

28HEX12

[Connector assembly]

MU Valve Junctions & Special Fittings

16

16

52

2
8.5

16

16

8.5
13

13

10
10

6.
5

6.
5

16
.5 10

16
.5

16
.5

16
.5

6.
5

10
33

23

3-M10×1

M10×1

L1

L2

Valve assembly 
port

Pipe 
connection

63
2-Rc1/8

R3.25

2-Rc1/8

6.
5

[Junction MUJ-3S]

[Junction MUJ-6D]

Model Part 
Number Specifilcation L1 L2

MUJ-1S 216101 Single type for 1 port 31 20

MUJ-2S 216102 Single type for 2 ports 47 36

MUJ-3S 216103 Single type for 3 ports 63 52

MUJ-4S 216104 Single type for 4 ports 79 68

MUJ-5S 216105 Single type for 5 ports 95 84

MUJ-6S 216106 Single type for 6 ports 111 100

MUJ-7S 216107 Single type for 7 ports 127 116

MUJ-8S 216108 Single type for 8 ports 143 132

MUJ-9S 216109 Single type for 9 ports 159 148

MUJ-10S 216110 Single type for 10 ports 175 164

Model Part 
Number Specifilcation L1 L2

MUJ-2D 216121 Double type for 2 ports 31 20

MUJ-4D 216122 Double type for 4 ports 47 36

MUJ-6D 216123 Double type for 6 ports 63 52

MUJ-8D 216124 Double type for 8 ports 79 68

MUJ-10D 216125 Double type for 10 ports 95 84

MUJ-12D 216126 Double type for 12 ports 111 100

MUJ-14D 216127 Double type for 14 ports 127 116

MUJ-16D 216128 Double type for 16 ports 143 132

Material: Aluminium (A6063S-T5)

Dimensional drawing Model

Model Part Number

MU-BP 619840

Material: Steel (SUM24)

Model Part Number

MU-SC 619841

Material: Brass (C3604)

For MU small metering valve installation



117

Dimensional drawing

R1/8

L
B

M8×1

8

Model Part Number Discharge 
volume (mℓ) L (mm) Mark B

MO-1 205070 0.01

44.5

1

HEX12

MO-3 205071 0.03 3

MO-5 205072 0.05 5

MO-10 205073 0.1 10

MO-20 205074 0.2
53.5

20

MO-30 205075 0.3 30

MO-50 205076 0.5 65 50

MO-100 205077 1
74.5

100
HEX19

MO-150 205078 1.5 150

�� When installing the valve to a junction, 
screw it into place with a wrench 
applied to the valve body.
�� When connecting the valve to tail 
tubing, turn bushing holding the 
nipple with a wrench.

Nipple

Thread
(Use sealing 
 material)

Body

Discharge volume 0.03, 0.05, 0.1, 0.2, 0.3, 0.5mℓ/stroke

Operating pressure 1.0MPa

Reset pressure 0.3MPa

[MO]

LT-S
: P.113

Pressure switch
: P.185

Tubing
: P.203

Branch tubing
: P.203

Push-in Fitting 
: P.214

Ludo-sensor
: P.187

Adapters
: P.207

Compression parts
: P.201

PM Pump
: P.105

AMI-300S . 1000S
: P.111

AMZ-III
: P.103

AMO-II -150S
: P.109

AMO-III DS
: P.107

Metering valve
MO

Positive displacement injectors (PDI) for oil. 
Nine different discharge volumes are available. 

Specifications

Directions for use

Related parts

Model



61

M12×1

φ4 Nylon tubing

L
H

E
X

12

□1
0

5   3A

M12×1

O-ringO-ring

M8×1 (φ4 tubing)

L
H

E
X

12

□1
0

50   3A

Discharge 
volume

Discharge 
volume

Production 
lot

Production 
lot

Model Part 
Number

Discharge  
volume (mℓ) L (mm) Mark

MG2-3 205741 0.03 48 3 HEX12
MG2-5 205742 0.05 5�
MG2-10 205743 0.1 10
MG2-20 205744 0.2 64 20
MG2-30 205745 0.3 30
MG2-50 205746 0.5 50�
MG2C-3 205731 0.03 53.5 3
MG2C-5 205732 0.05 5
MG2C-10 205733 0.1 10
MG2C-20 205734 0.2 69.5 20
MG2C-30 205735 0.3 30
MG2C-50 205736 0.5 50

Specifications Model

Dimensional drawing

[MG2]

Operation chart

Start of pump operation

Start of pressure rise

Valve opens

Pressure starts rising before
discharge of grease

1. Before the discharge
(Start of pressure rise)

2. Pump pressurizing
Completion of discharge (under pressure)

3. Measuring
(piston returning)

Valve begins to
dischargeDischarge

O-ringCollar
A

Check valve

Inner pressure relieves

Depressed

Pump operation Pump stops

Pum
p relief opens

P
um

p stops

Inner pressure relieves

Return of valve piston

Finish

O-ring and collar go up 
and push up the grease 
(oil) in the measuring 
chamber.

Spring starts 
pushing down 
O-ring and collar. 
In the meantime, 
the path (A) opens 
up and the tip of 
the check valve 
seals the path from 
the junction. 
Grease (oil) refills 
the measuring 
chamber.

[MG2C]

Grooving

*Grease valve have grooving 
 as shown in the picture.

[MG2 . MG2C] 

Operating pressure 2.5MPa

Reset pressure 1.4MPa

Grease metering valve
MG2 . MG2C

Positive displacement injectors for use with metal 
or nylon tail tubing.  

GMS-4-8P
: P.49

EGH-3P
: P.53

EGH-4C
: P.53

GAS-8P
: P.55

Pressure gauge
: P.95

Related parts

Main tubing z
: P.203

Adapter assemblies
: P.217

Branch tubing
: P.203

KEN-T
: P.220

KEN-M
: P.220

EGM-10S-4-7C
: P.51

Compression parts
: P.201

Adapters
: P.207

*MG2C for use with nylon tubing only

** Production lot is indicated by a number and letter code. 
Number indicates year of production, letter indicates 
month of production. [A(January)-L(December)]



62

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
S

m
all-M

edium
 M

achines

M12×1

O-ring
Rc1/8

24HEX12

MG2 Valve Junctions & Special Fittings

For piping connection parts, see P. 200

Dimensional drawing

M12×1

O-ring
5 14

Model

[Plug assembly]

[Connector assembly]

12-M12×1

L2
L1

L2
L1

2-φ7

16 16

16

16 16 16

2-M12×1

2-φ7

10
.5

17
.57

20
2-Rc1/8

11
35

15

20
2-Rc1/8

Clamp face

Clamp face

11
25

15

Model Part Number

SCP 619803

Material: Brass (C3604)

Model Part Number

BPP 619802

Material: Steel (SUM24)

Model Part Number Specifilcation L1 L2

JVPA- 1S 216001 Single type for 1 port 33 22

JVPA- 2S 216002 Single type for 2 ports 49 38

JVPA- 3S 216003 Single type for 3 ports 65 54

JVPA- 4S 216004 Single type for 4 ports 81 70

JVPA- 5S 216005 Single type for 5 ports 97 86

JVPA- 6S 216006 Single type for 6 ports 113 102

JVPA- 7S 216007 Single type for 7 ports 129 118

JVPA- 8S 216008 Single type for 8 ports 145 134

JVPA- 9S 216009 Single type for 9 ports 161 150

JVPA-10S 216010 Single type for 10 ports 177 166

JVPA-11S 216011 Single type for 11 ports 193 182

JVPA-12S 216012 Single type for 12 ports 209 198

Model Part Number Specifilcation L1 L2

JVPA- 2D 216021 Double type for 2 ports 33 11

JVPA- 4D 216022 Double type for 4 ports 49 38

JVPA- 6D 216023 Double type for 6 ports 65 54

JVPA- 8D 216024 Double type for 8 ports 81 70

JVPA-10D 216025 Double type for 10 ports 97 86

JVPA-12D 216026 Double type for 12 ports 113 102

JVPA-14D 216027 Double type for 14 ports 129 118

JVPA-16D 216028 Double type for 16 ports 145 134

Material: Aluminium (A6063S-T5)

For MG2 . MG2C metering valve installation

[Junction JVPA-12D]

[Junction JVPA-2S]



63

Grease metering valve with clogged line detection 
MG2I

Positive displacement injectors with clogging indication.  
When there is a clogging issue, the red pin pops out for 
visual indication of a problem.

M8 × 1 (ø4 Tubing)

H
E

X
12

L

10 4A

(5)40

Detection pin

Discharge volume

Lot

M12×1

O-ring

Dimensional drawingSpecifications

Model

Operating pressure 1.5MPa

Reset pressure 0.5MPa

Detection pin operating pressure 1.5MPa

Material: Brass

Directions for use

�� When installing the valve on a junction side, screw it into 
place with a wrench applied to the valve body.
�� When connecting the valve to piping, turn bushing holding 
nipple with a wrench.

[MG2I-30 MG2I-10]

Model Part Number  Discharge 
volume (mℓ) L (mm) Mark

MG2I-5 205822 0.05 70 5

MG2I-10 205823 0.1 70 10

MG2I-20 205824 0.2 86 20

MG2I-30 205825 0.3 86 30

MG2I-50 205826 0.5 86 50

EGM-10S-4-7C
: P.51

GMS-4-8P
: P.49

GAS-8P
: P.55

Pressure gauge
: P.95

Related parts

JV junction
: P.62

Main tubing φ8
: P.203

Adapter assemblies
: P.217

Branch tubing
: P.203

KEN-T
: P.220

KEN-M
: P.220

EGH-3P
: P.53

EGH-4C
: P.53

Compression parts
: P.201

Adapters
: P.207

* �Production lot is indicated by a number and letter code. Number indicates year of production, 
letter indicates month of production. [A(January)-L(December)]



64

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
S

m
all-M

edium
 M

achinesA

JVPA Junction

EA4-20
Elbow adapter

KEN-M
Discharge confirmation pin

SA4-16
Straight adapter

CB-4-8
Bushing

TI-4
Tube insert

CS-4
Sleeve

NT-4
ø4 Nylon tube

ST-4Z
φ4 Copper piping

BP-1
Blanking plug

S81-SC
Connectors: Straight

ST-8Z
Main tubing φ8

KEN-T 
Indicator pin

B

T

T

T

MG2I valve

Piping layout (Example)

Use an appropriate sealant where mark is shown.

Mark denote tightening torque. See the tightening torque list. P.251



65

Metering valve for grease with electronic 
performance monitoring
MGLA

Discharge volume 0.1, 0.2, 0.3, 0.5mℓ/stroke

Operating pressure 2.5MPa

Reset pressure 1.2MPa

Contact capacity AC125V 2A    AC250V 2A
DC30V 2A 

Material:Zinc Die Casting (ZDC)

MGLA Valves are designed to be used with grease and incorporate the use 
of a Micro Switch to allow monitoring of the most critical lubrication points 
on the machine.  They can be wired either normally open, normally closed or 
both to monitor both pressure rise and pressure relief.  Can also be installed 
near the end of the main tubing to monitor integrity of main line tubing.

Wiring diagram

COM

Black

NO

White

NC

Red

Contact type

Dimensional drawingSpecifications

Model
(2

90
)

12
2

58
.5

11
.5

34.5

30

25
2-Rc1/8

Discharge 
port
Rc1/8

Mark

18

[MGLA]

[MGLA-20]

Model Part Number  Discharge volume (mℓ) Mark

MGLA-10 205515 0.1 10

MGLA-20 205518 0.2 20

MGLA-30 205588 0.3 30

MGLA-50 205589 0.5 50

MGLA

EGM-10S-4-7C
: P.51

GMS-4-8P
: P.49

GAS-8P
: P.55

Pressure gauge
: P.95

Related parts

Main tubing
: P.203

Adapter assemblies
: P.217

Branch tubing
: P.203

KEN-T
: P.220

KEN-M
: P.220

EGH-3P
: P.53

EGH-4C
: P.53

Compression parts
: P.201

Adapters
: P.207



115

Related parts

Start of pump operation

Start of pressure rise

Valve opens

Pressure starts rising before
discharge of grease

1. Before the discharge
(Start of pressure rise)

2. Pump pressurizing
Completion of discharge (under pressure)

3. Measuring
(piston returning)

Valve begins to
dischargeDischarge

O-ringCollar
A

Check valve

Inner pressure relieves

Depressed

Pump operation Pump stops

Pum
p relief opens

P
um

p stops

Inner pressure relieves

Return of valve piston

Finish

O-ring and collar go up 
and push up the grease 
(oil) in the measuring 
chamber.

Spring starts 
pushing down 
O-ring and collar. 
In the meantime, 
the path (A) opens 
up and the tip of 
the check valve 
seals the path from 
the junction. 
Grease (oil) refills 
the measuring 
chamber.

[MO2]

M12×1

O-ring

M8×1

L
H

E
X

12

□1
0

3   3A

Discharge volume

Manufacturing lot

[MO2C]

M12×1

O-ring

φ4Nylon tubing

L
H

E
X

12

□1
0

3   3A

Discharge volume

Manufacturing lot

[MO2] [MO2C]

Discharge volume 0.03, 0.05, 0.1, 0.2, 0.3, 0.5 mℓ/stroke

Operating pressure 1.0MPa

Reset pressure 0.3MPa

Model Part Number Discharge 
volume (mℓ) L (mm) Mark

MO2-3 205761 0.03

48

3

HEX12

MO2-5 205762 0.05 5

MO2-10 205763 0.1 10

MO2-20 205764 0.2

64

20

MO2-30 205765 0.3 30

MO2-50 205766 0.5 50

MO2C-3 205751 0.03

53.5

3

MO2C-5 205752 0.05 5

MO2C-10 205753 0.1 10

MO2C-20 205754 0.2

69.5

20

MO2C-30 205755 0.3 30

MO2C-50 205756 0.5 50

LT-S
: P.113

Pressure switch
: P.185

Tubing
: P.203

Branch tubing
: P.203

Push-in Fitting 
: P.214

Ludo-sensor
: P.187

Adapters
: P.207

Compression parts
: P.201

PM Pump
: P.105

AMI-300S . 1000S
: P.111

AMZ-III
: P.103

AMO-II -150S
: P.109

AMO-III DS
: P.107

* �Production lot is indicated by a number and letter code. Number 
indicates year of production, letter indicates month of production. 
[A(January)-L(December)]

Metering valve
MO2 . MO2C

Positive displacement injectors are available 
with compression or push to connect tail 
tubing connections.

Specifications Model

Operation Sequence Dimensional drawing



119

Model Part Number Didcharge volume (mℓ) Mark

MOS-1 205300 0.01 1

MOS-3 205301 0.03 3

MOS-5 205302 0.05 5

MOS-10 205303 0.1 10

Discharge volume 0.01, 0.03, 0.05, 0.1mℓ/Stroke

Operating pressure 0.9MPa

Reset pressure 0.3MPa

�� When installing the valve to a junction, 
screw it into place with a wrench applied 
to the valve body (Tightening torque : 
50kgf·cm )
�� When connecting the valve to tail tubing, 
turn bushing holding the nipple with a 
wrench.

Nipple

Thread

Body

619219

M10×1

21HEX10

619293
M10×1

M8×1

25HEX10

LT-S
: P.113

Pressure switch
: P.185

Tubing
: P.203

Branch tubing
: P.203

Push-in Fitting 
: P.214

Ludo-sensor
: P.187

Adapters
: P.207

Compression parts
: P.201

PM Pump
: P.105

AMI-300S . 1000S
: P.111

AMZ-III
: P.103

AMO-II -150S
: P.109

AMO-III DS
: P.107

Compact metering valve
MOS

MOS metering valve is the compact version of MO valve. 
Four different discharge volumes are available.

Specifications

ModelAdapters(SAS)

Directions for usePlug(BPS)

Related parts



120

P
ositive D

isplacem
ent 

Injector (P
D

I) S
ystem

 for 
Large M

achines

Dimensional 
drawing

Operation Sequence

Piping layout (Example)

Start of pump operation

Start of pressure rise

Valve opens

Pressure starts rising before
discharge of grease

1. Before the discharge
(Start of pressure rise)

2. Pump pressurizing
Completion of discharge (under pressure)

3. Measuring
(piston returning)

Valve begins to
dischargeDischarge

O-ringCollar
A

Check valve

Inner pressure relieves

Depressed

Pump operation Pump stops

Pum
p relief opens

P
um

p stops

Inner pressure relieves

Return of valve piston

Finish

O-ring and collar go up 
and push up the grease 
(oil) in the measuring 
chamber.

Spring starts 
pushing down 
O-ring and collar. 
In the meantime, 
the path (A) opens 
up and the tip of 
the check valve 
seals the path from 
the junction. 
Grease (oil) refills 
the measuring 
chamber.

M8×1

10
41 M10×1

Discharge 
Volume

EA4-20
Elbow adapter

CB-4-8
Compression 
Bushing

CB-4-10
Compression 
Bushing

CB-4-10
Compression Bushing

CB-4-8
Compression Bushing

CS-4
Compression sleeve

CS-4
Compression 
sleeve

CS-4
Compression 
sleeve

CS-4
Compression sleeve

CS-4
Compression sleeve

SAS
Adapter

TI-4
Tube insert

TI-4
Tube insert

BPS
Plug

CP-4
Closure plug

PVS Junction

ST-4Z
φ4 Steel tubing

NT-4
φ4Nylon tubing

SA4-16
Straight adapter

A

B

Use an appropriate sealant where mark is shown.

Mark denote tightening torque. See the tightening torque list. P.251


